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nwuwywnpgdwu
Gphuwywl wwpwquubp
30197622 fenine U4 uu Ug 0
30197231 duwy| uu wnntth 0
30192121 Snhs Yuunywn uu hwn 0
301921211 |Sphs ult uu hwwn 0
30192121/2  |9phg Ywpdhp uu hwuwn 0
30192160 Cuphlu uu hwun 0
30197232 Upwaguwlwnp -|[uu hwun 0
22800000  |Chuwpwpnipjwl Jupdwl dwwnjwl uu hwun 0
22800000/1  [Chuwpwpnipjwl yupdwl dwwnjw uu hwuwn 0
30192130 Uwtnpun uu hwwn 0
39263200  [Ypwubywlwihu ghpp uu hwun 0
30197321 Ywiphy uu hwwn 0
30197111 Ywnhsh wubin uu wnuh 0
301971111 Ywphsh wubin uu nnuh 0
30197120 UnGgwd /Yunuwyuw/ uu wnntth 0
30197332 Yl uu hwwn 0
24911200 Ednyuhw uu hwwn 0
30197230  |@npwwwlwy uu {hwtn 0
39292510  |Rwunu uu hwwn 0
30192133 Uphs uu nntth 0
39241210 UYypwwn uu nntth 0
30192130/2 (UL dwunpun uu hwwn 0
30192100 Mwnhu uu hwn 0
24911300 Unuhud uu hwwn 0
35821400  [pn2 uu hwwn 10 50
30140000  [<wgyhs uu hwwn 0
39292530 uu hwwn 0

Gplwpejw pwunu




22811170 Lgnuiutiph peninpe uu wnnuh 0
18931110 Twpngulwl wwynuwy uu hwuwn 7,9 14 105
30192127 Spswinnith uu hwuwn 2 14 28
392412101 |UYypwwn uu hwwn 0,2 14 2.8
30192741 Sniuwdnp pninpe uu hwuwn 0,25 14 3.5
24911300/1  |Unuhua uu hwwn 0,25 14 3,5
30192130/3  |Snwuwynp dwwnhwn uu hwuwn 0,75 14 10,5
30192100/1  [MHawnhu uu hwwn 0,16 14 2,24
30192121/3  |Qnphy uu hwuwn 0,05 28 1,4
30192130/4  |[<wuwpwl dwinhwnn uu hwwn 0,1 14 1,4
39292510/1  |Rwunu uu hwwn 0,85 14 11,9
30192750 Sindwuwnbph hwdwpwdnt uu nnuh 1,6 14 22,4
30192133 Uphs uu hwn 0,2 14 2,8
22811130 Skup uu hwn 0,08 56 a 448
22841100  [Ujpnd uu hwtn 0,2 14 " 28
Stunbuwlwu wypwupubp,
wwpwgwubp
39831240 Utuinwhwnn dhong uu hwwn 0,97 4 3,88
33141118 Uudatinnghl pwg uu hwn 175 <) 9,25
39835000 Lwwnwyh dwppnn &nn uu hwwn 3 1 3
39831240 Utunnwhwunn dhong uu hwn 0
39831280 Udwuh htinnty uu hwuwn 0
33141118 Uuatinnghl uu hwuwn 0
39221500 Udwt Jwnt uyntug uu hwwn 0
39221500/1  |Quwhhp uu hwwn 0,12 2 0,24
39831245 <bnnwy obwwn uu hwwn 1,05 3 3,15
39831245/1  |<bnniy obwwn uu hwwn 0,42 2 0,84
39831245/2 | <bnniy obwwn uu hwwn 0,32 3 0,96
33761000 2niqwpwlh pninp uu hwn 0,13 15 1,95
39831282 Ubnwuh 2np uu hwuwn 0,7 2 1,4
39831282/1 | |wp uu hwn 0,4 2 0,8
19640000 Nanhtu nnwpwy uu hwn 0
19640000/1  [nnwpwy uu hwwn 0.3 16 4,8
18141100 atinung uu qnyg 0,61 3 1,83
18141100/1 Qtinung uu qnyq 0,21 3 0,63
18141100/2  |Qbinung uu qnyg 0,21 2 0,42
18141100/3  |Qtinung uu qnyqg 0;3 80 24
39836000 th{fj'l hwuwpwy uu hwn 10 4
39221210 Uynunbin Yinp uu hwwn
39831283 Cwwnwyh onp uu hwuwn 152 4 4,8
31441000 dwpwnyng uu hwn 0,1 10 1
39831240 dwybi uu L 0,35 6 2,1
39831279 Ywhnyph futiwdph dhong uu hwuwn 0
39831273 Cwwnwyh dwppdwu dhong thwjtgunn  [UU hwn 2,85 2 o
39714100 Onwthnfuhs uu hwtn 0,8 3 2,4
39714100/1  |Onwthnfuhs uu hwwn 2,8 5 14
39714100/2  |Onwthnfuhg uu hwn 1,05 1 1,05
39831280 Uwwlynt dwppdwt dhong uu hwun 0,45 8 3,6




19641000 Unph nnwpwy uu hwwn 0,85 9 4,25
39831278 Udwuh hbnnwy uu hwn 27 1 2.7
39831278/1  |Udwup htnnwy 3 | uu hwwn 3,2 3 9,6
3121200 Yuwpnn uu hwtn 0,7 " i
03121200/1  |dwpn uu hwwn 0,6 14 8,4
3121200/2 Ubuwy uu hwwn 0,15 100 15
3121210 Rwdpjnin uu hwwn 4 3 12
31212101 Ruwdpjnin uu hwwn 5 1 9
3121210/2 Muuwly uu hwwn 20 2 40
3121210/3 Dwnybwuwy uu hwuwn 20 1 20
3121200/3 dbfuwy uu hwwn 0,15 20 3
3121200/3  |ownybwuwy uu hwwn 20 1 20
3121200/4  [ownytiyuwy uu hwwn 20 1 20
3121200 Jupnbp uu hwwn 0,87 10 p 87
3121200/6  |yndwnghgjuw uu hwwn 12 1 12
Ynuybipduy /
24451130 osougan ; i ba 38 ‘ 48
Cwlu wyntu /
24441100  |05025 s L 8 0. 0.8
Mthnndhy gnin /
244511301 osh(r)}38mq = o la 1% 0 e
Ynubhnnp /
244411001 052(?; - i l s s =
24441100/2  |Pwlqu) / 05040 uu L 7 0,4 2,8
2htwpwpwlwy tynypbp L hwpwlhg
wpunwnpuup
30231200 Ywnwywpdwl Juwhwuwy uu hwuwn 0
38431120 Ofuh wnyhy uu hwwn 0
38431130 bpdwjhu nyhs uu hwwn 0
35121100 atinph wqnwpwpdwl uwpp uu hwtn 0
32321200 Stuwhuynnnipjwt hwdwlwng uu hwwn 25 1 25
44322280 Uwintfu uu d 0
44322280 Uwlwn uu d 0
14211111 fuhé thwn uu u3 2,4 10 24
42131100 thwlwu 150404 uu hwun 50 1 50
42131100/1  [thwlwu uu hwn 50 1 50
4213110072 |thwlwu uu hwwn 10 2 20
44411752 2nh pwly uu hwwn 550 1 550
31711250 Uhthinut funnnyuwl 2544 uu qd 0,85 50 42,5
42131230 onguil uu hwwn 6 3 18
31711250/ ntwnhub funnnqwy 644 uu qd 0,5 3 1:5
31711250/2  |ntwhub funnnywl 9ud uu qd 0,8 5 4
31711250/3  |ntinhub funnnywly 3244 uu qd 2,5 19,5 48,75
31711250/4  |Uhthynuti funnnduwly 2544 uu (ol} 0,65 19 12.35
42131230 funnnywy uu hwwn 5 1 9
42131100 2unigbin wjwuwndwub 1 nnyd uu hwuwn 0,4 3 12
33651243 wwyh uu hwwn 0,2 1 0,2
39721410 ququpwnuwihtu uwppwynpnid uu hwwn 40 2 80
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hwwn

147,5
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397214101 [ququpwnuwjht hwdwlwpg' 2 pwinuny
24911900 |uwihyh unuhua T1 uu hwun 3,55347 1 3,55347
uwihy, Yepwdhulwu, ywwnt
44111720 hLudlEJunulL;u u:]iml:m (Uwu:hu MTn h Ul s 3,42 3,06 10,4652
44511100/4| \gwhwpphs uu hwun 1,93967 1 1,93967
44411100(dnpwy3/4 uu hwwn 2.5 1 2.5
44411100/1|onpwyh hwdwlwpg uu hwwn 50 1 50
44411300|Lwgwpwt uu hwwn 80 1 1
39541190 |wwnw uu hwwn 1 2 2
31151110 (hnuwuph wywnnuwwn uu hwwn 1 4 4
44511100 thngfu uu hwwn 2,5 5 125
44511110{ pwh uu hwwn 2.2 10 22
44511100/1|8tinph gnpdhp funnnh hwdwp uu hwwn 4 2 8
44511100/2|unng thwjinh uu hwwn 3,5 1 & 35
44511100/3|dypwin uu hwwn 3 1 3
09211100 Cwndhsh jnin uu L 0
09132100 PEughu Mpbdhnid q< L 0,360 2000 720
09134200 Udwnndnphiwht nhgbijwjht unbihp S L 0,540 500 270
09133100 Ubtindws quq qq ug 0,34 12000 4080
0921110011 Ywnwé jnin uu L 0,2 200 40
34331300 unnwyhgh jntnwwwhhs uu hwwn 3 1 3
09211620 yhuynght uu L 0.5 2 1
34331300/1  |th/wn wnwugpwlw uu hwwn 3 1 3
Uwlnyph nwu dErwynpnid
44112660 dwpwgnyph phy uu d 16,822 21,4 360
39515100 Jdwpwgnyp uu d 4600 70 322
39515100/ Ywpwagnyp uu d 6810 70 474,7
39515100/2  [dwpwagnyp uu d 5000 64.2 321
19261100 Uthpng uu p/d 4600 0,1 680
19261100/1 Uthpng uu p/d 6810 0,0 266
39561110 dwwuwytt /Gphg/ uu d 645 500 3225
44423612 dwwywytl / huptwluysnil / uu d 200 375 75
39141210 hwwnnwy nEYnpwinhy Yunpubip uu hwwn 1,14 100 114
39515410 Chpunwywpwagnyn G p/d 8,5 9 76,5
39515410/1  [Chpnwywpwgnyp q< p/d 8,5 42 357
39221260 Uthub dhoht Q< hwwn 1,1 300 330
39221260/ qu:wuh Q< hwuwn 0,85 300 255
39221260/2  [Uthuti 6wgh q< hwuwn 2 32 64
39221260/3  [Uthub 6wph Q< hwuw 2.7 32 86,4
39221260/4  [Uthub Guwgh 9L hwun 2.5 32 80
39221260/5 |Uthub q< hwwn 1,2 96 115,2
39221260/6  |Uthub q< hwuwn 0,8 96 76,8
39221260/7  |Uthub 9c hwn 0,85 96 81,6
39221260/8  |Uthub tnndwinh < hwuwn 0,6 64 38,4
39221260/9  |Uthub gbijentup q< hwwn 1,45 40 58
39241120 q< hwuwn 0,85 250 212:5
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39221390 Muwwnwnwpwn 9L hwwn 0,85 250 212;5
39221380 Snw| dkid 94 hwwn 0,55 96 52,8
39221380/1  |Snwy thnpp Q& hwwn 0,45 96 43,2
39221260/10  [Unwdwu Q<L hwwn 142 80 96
39221260/11  [4nu$binh wdwu < hwwn 5 32 160
39221260/12  |hudnptintuh wdwl QL hwwn 7 32 224
39221260/13  [Upgh wdwu 94 hwwn 7 32 224
39221130 Pwdwy hjnieh Q< hwwn 0,45 250 12,5
392211301 |Pwdwl onnt Q< hwwn 0,4 250 100
39221260/14  |Unfupwdwu q< hwwn 0,5 100 50
39221140 Pwdwl unipéh mwynhpny, q< hwtn 07 100 70
39221140/1 Pwdwy pbjh wwynhpny q< hwwn 1,1 100 110
39221120 Uthubih tnwynhp Q<L hwwn 0,55 70 38,5
39221370 Chptith gwugwynp Q< hwun 3.0 3 10,5
39221370/1  |Thpkth 9 hwuwn 2 10 20
39241120/1  |"rwuwly hwdwpwdnt Q< hwwn 17 5 85
39221230 (Fwyw dtd S hwwn 20 3 60
39221230/1  |fFwyw dhohu 9L hwuwn 17 < 51
39221270 (Fwu vk 9< hwwn 8 5 40
39221270/1  |fFwu dhohu Q< hwwn 7 5 35
39221270/2  [(Fwu thnpp q< hwuwn 4 5 20
39221230/2  |Utwmwnw dnnbip funpnwdh G hwuw 1,4 150 210
39221120/1  |UYnunbin Utd Q< hwwn 4,5 20 90
39221120/2  [UYynunbin thnpp 9 hwwn 3.5 5 52,5
39221120/3 [ Mwuwndwub wdwulbp Ywthwphsny QL hwwn 15 5 75
39298300 |Dwnlwdwu & hwwn 5 20 100
33191350 Uwjwy wuhdwynp uu hwuwn 97 8 776
39714110 Onwdsdhy uu hwuw 66 1 66
42711170 Lywgph dbptuw uu hwwn 270 1 270
39711270 Swqogwlu uu hwwn 420 1 420
39121500 Lwdhuwwnb odwunwl ubnwu funhwungh|9< hwwn 120 2 240
Lwdhuwwnt hwunhunipniuttiph hwdwnp
39141320 1y puiunbuyws ubnu hwpuwtbuy — |9< huwn 170 |16 Sy
39121500 Lwihuwwnt ywhwpwu Q< hwn 130 7 910
391200 Lwdhuwwnb ubnwu hwpuwtyug upwhp  |9< hwuwn 200 1 g
Cwdwlwpgswjht uwppbp
31151120 Uufywihwt utinigdwt uwpp uu hwn 360 1 360
30211190 Cwdwlwpghs uu huwwn 450 1 450
Dwnuwjnipniuubp
RO Eltyunpntubpghwih dwinwlwpwpnud e 5 i
65000000  |Yndniuw) Swnwjnipjntuttin/Qnip/ uu u3
65210000 Quwagh Pwgfunwd uu
i huwnbipubinn dwnwjniejwu Jwwnnignd o e L 1%
66510000 Uwwhnwgpwlwu dwiuubp uu
79100000  |Ppwywpwlwlwu dwnwnieniuubp uu npwy 970
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Stnbywwnjwlwt hwdwlwpgbiph

72221130 ugwuwplnud uu npwd 960
Lwnpwnphouti nfuwphunud b
30121600 nnhgtiaph dfinfuipp uu hwn
uwwuwpynud
Uwulwghinwlwu dwnwjnipniutin
70000000 Jswihwapnu/ uu npud
Lwuwgdwtwfuwhwaduwhu
50531140  |thwuwnwpnpliph tinpdwplunig)niu uu npwd 360
/NANNYUUL 8ULS/
79211160 Untnhin uu npwd 990
Sthuuhwlwu hulnnnipntu
71520000 U winquinwow/ uu npwd 1
<bnhuwlwyhu hulynnnipejniu
71220000 T winquinwow/ uu npwd 1
Stuuplwlwu hulynnnigyniu /NMENSFUUL
71520000 sULS/ Q< npwd 1 7 464,48
Lhnhuwlwyhu hulynnnieyniu /NMFNSUUL B
71220000 SULS/ uu npwd 1 2296,764
50831100 Ywph dwnwjnijntu uu npwd 1,8 458,3 825
Lbipphu (huwnbiphbph) dLwdnpdwu
s dwnwjntpjntutbin S o 1 600 600
90921200 Cubph Juwuwgbpddwt dwnwjnipjntu S npwy 1000 1 1000
Ofuwwnwn onwwwpubiph unnignu b
79711110 [dwppnud, hpgtig wwnh uu hwin
wnpwdwnpntd 36 1 36
Uhgngwnniuittiph hbin Juwdwd
79951100 Jo nuynueynitiutn o e 550 i 550
Uzfluwwnwupubp
45211140 Uwpqunwown Q< npwy 1 0
45231126 Nnngdwl gwugh Ywnnignid <PU npwd 564429.753 1 564429.753
45231272 pbdtiph Ywnnigdwt woluwwnwlpubin Q< npwd 1400 1 1400
dbnwnwlwu Ynuunpniyghwubiph
45421113 nbnwnpnud six g b 1 i
99000000 qunud shwunhuwgnn dwfuubp




